
INFLITE CF SLX 2x | R059-01
REVISION 00 |  03.08.2018

 

1

13

1410

11 6 7

7

15
16

18

28

5 43

17

9

13

12

ST-insert

EP0367-01-S 20003018

EP0367-01-M 20003019

EP0367-01-L 20003020

POS-NR. NAME QTY.CANYON#

1 ST-insert EP0367-01 1see drawing

2 Chainsuck plate EP0648-01 1165939

3 RD-Hanger EP0716-01 1
165360

4 RD-Hanger screw M4x10 ISO 10642 1

5 D/O frame cover right E392-16 1154745

6 D/T brake hose guide E389-16 1167698

7 Water bottle screw M5x6 4

8 C/S protector 1123976

9 Brake grommet E401-16 1106464

10 Socket set screw M8x10 DIN913 1116743

11 Cover plug EP0681-01 1154652

12 Reverb grommet E494-16 1148016

13 Cable stopper E287-15 2104704

14 Rubber plug EP0704-01 1154655

15 FD-Hanger E388-16 1
153207

16 FD-Hanger screw M4x12 DIN 7991 2

17 Cable stop JW CC307 1122221

18 BB cable guide EP0638-01 1154651

TORQUE 1NM

TORQUE 2NM

TORQUE 5NM

Fork

Size 2XS, 3XS FK0055-01

Size XS-2XL    FK0045-01


